
a}=kmf=174

bfloTj ?= ?= ;DklQ ?= ?=

1= a}lsé clkm;df gf]^ df}Hbft 10,487,801,537   1= ljb]zL d"b|f / ;]So"l/^L 413,742,534,000

2= rng rNtLdf /x]sf] gf]^ 403,254,732,463

hDdf lgisflzt gf]^ 413,742,534,000

hDdf bfloTj 413,742,534,000   hDdf ;DklQ 413,742,534,000

OSjL^L tyf bfloTj ?= ;DklQ ?=
1 d"nwg 3,000,000,000   1  gf]^ 10,487,801,537
2 ;fwf/)f hu]*f sf]if 23,734,999,885   2  /]RsL -
3 df}lb|s bfloTj sf]if 4,197,513,998   3  ljb]zL d"b|f 19,170,777,238
4 ljsf; sf]ifx? 18,951,240,241   4  ljb]zL a}+s df}Hbft 130,397,005,570
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 318,169,133
6 ;^xL ;lds/)f sf]if 82,574,493,607   6  ljb]zL a)* 128,305,698,809
7 ;"grf¤bL ;lds/)f sf]if 10,188,767,853   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if 289,378      -s_ :jb]zL 79,197,132
9 lgIf]k      -v_ ljb]zL -
   -s_ g]kfn ;/sf/ 264,799,415,720   8  nufgL
   -v_ afl)fHo a}°x? 141,947,622,424      s= ljb]zL ;]So"l/^L 250,424,669,812
   -u_ ljz]if lgIf]k -      v= g]kfn ;/sf/sf] ;]So"l/^L 63,487,135,798
   -#_ cGo 49,353,526,401      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 3,448,571,870
10 e"QmfgL lbg"kg]{ lan 199,720,396      #= l/kf] ljb]zL -
11 g]=/f=a}= C)fkq lx;fa 24,318,625,000      ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
12 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj -   9  shf{ / ;fk^
13 P;=*L=cf/= af¤*kmf¤* 9,573,645,926      s= g]kfn ;/sf/nfO{ -
14 cGo bfloTj 17,864,203,362      v= jfl)fHo a}+sx?nfO{ 8,066,954,077

     u= ljQLo ;+:yfx?nfO{ 885,751,768
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 4,078,868,923
  10 ;"g df}Hbft 1,429,457,964
  11= cGo ;DklQ 30,093,004,561

hDdf OSjL^L tyf bfloTj 650,704,064,192   hDdf ;DklQ 650,704,064,192
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